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E
—50720.03
—14879.67
K
—50720.07
—14878.87
I
—50731.24
—14880.46
J
—50731.33
—14879.66
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<BEOH>

v ((Ax—Bx) "2+ (Ay—By) *2)

<KEBEDODHK>

(Ay (Bx—Dx) +By (Cx—Ax) +Cy (Dx—Bx) +
Dy (Ax—Cx)) =2

EK

—50720.03——50720.07 STO A
—14879.67——14878.87 STO B
4 (A”24B"2) =0.800

KJ

—50720.07——50731.33 STO A
—14878.87——14879.66 STO B
v (A™24B"2) =11.287

Jl

—50731.33——50731.24 STO A
—14879.66——14880.46 STO B
v (A"2+B"2) =0.805

IE

—50731.24——50720.03 STO A
—14880.46——14879.67 STO B
v (A"2+B%2) =11.237

B
—50720.07——50731.24=
AnsX—14879.67 STO A
—50731.33——50720.03=
Ansx—14878.87 STO B
—50731.24——50720.07=
AnsX—14879.66 STO C
—50720.03——50731.33=
Ansx—14880.46 STO D
A+B+C+D=
Ans+2=9.03935 (#axH{E)

<BEOK>
Abs (A—B)
<KBEDOH>
(Conjg (A—C) (B—D)) =2

—50720.03+—14879.67i STO A
—50720.07+—14878.87i STO B
78.67+—14879.66i STO C
78.76+—14880.46i STO D

EK
Abs (A—B) =0.800

KJ
Abs (B—C) =11.287

Jl
Abs (C—D) =0.805

IE
Abs (D—A) =11.237

B
Conjg (A—C) (B—D)
Ans+2=9.03935 (HEZB{E)




